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Multiplications Word Problems
(Grade-2)
Do the following problems:

1) There are 5 rows of chairs in a classroom. Each row
has 9 chairs. How many chairs are there in total?

2) A box contains 8 packs of crayons. Each pack has 10
crayons. How many crayons are there in total?

3) A farmer has 3 fields. Each field has 9 cows. How
many cows are there in all the fields?

4) There are 8 boxes of cookies, and each box contains
15 cookies. How many cookies are there in all the
boxes?

5) There are 7 days in a week, and each day has 24
hours. How many hours are there in a week?
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6) A farmer has 8 baskets. Each basket contains 15
eggs. How many eggs are there in all the baskets?

7) A pet store has 9 aquariums. Each aguarium has 9
fish. How many fish are there in all the aquariums?

8) There are 9 shelves in a library, and each shelf has
18 books. How many books are there in the library?

9) Olivia is making gift bags for a party. She wants to
put 6 stickers in each bag and make 5 bags. How
many stickers does she needs in total?

10) A toy store sells packs of 4 toy cars. If a customer
buys 6 packs, how many toy cars do they get?
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